SHOFE MWRR7-E—T 177 T—EBHER (2%)

LESMLTWV=EEEL . SMEBOESADT U r—MERZEH/ELF T,

1. SMAB (2t:59%8) (AD) 108128 (1) FEIAMRRZFLL 49— 218 (F:208-%:14)
(B¥) 10198 (L) A EMX KRR 2— 358 (FB:344-&%:14)

(C¥D) 10A20H (B) E & . 3&(HE: 282-&:14)
2. Por—h&EE dri:574)
[ #hiz 71 ] [F#71]
(&1%) (ABE) (BBE) (CHE) (&4%) (ABE) (BBE) (CHE)
BEA 0 104% 0
R 0 204% 0
=3 0 301 0
L1 0 401% 21 1] 1
FitE e 35 1l 33 1 501t 3 2l 1
Y5 2 1 1 601X 15 11 14
5B 18| 17 1 704% 36| 17| 18] 1
=M 0 sorkuLE|l 1 1
XM 0 57| 20| 35| 2
fE &R 0
st 0 FEEHR
EEAL 2 1 1
57| 20] 35| 2 40 ES
35
30
25
20 5
15
10 —
50 0 0 2 : ] 1
0 | 0 O -
I S S S S T
S
3. 7VH—FrRAE

(BR1]12903—T4 7 IXATHYEL-D ? EHEZHY)

(£45) (A¥D) (BED (C¥D)

warsy [ 10 6 4
LER
M| 18] o 8 P
R LaR— 0
Foo | 12 8 3 1
Facebook 2 1 1
zof| 30 7| 23 o i:é
67 26] 39 2 e F5L 0%
3% 18%
B ERZKY = [GHR R—LR—=
XKZDh--BAR. - FMADENT ALATE

" F5 Facebook Z0ith



(BR2)3 0 2 —T4 0 £ROERB-RBEIZDNT @sz

(£4K) (AMD) (BHD) (C¥D)

R 8 3 4 1
EhimE 31 10 20 1
BT 7 1 6
i 0
mEEsL] 11 6 5
97] 20{ 35 2 E=HiHE

55%

EE wEHHBE = PO « T o« @EGL

(BERSI#EMBRILIYERLCEAHBYEI M ?

A
2% _aw

o mEGL

(&1%) (ABD) (BHE) (CHE)
Hb 55| 20[ 33 2
AR 2 2
E&HL 0
57 20| 35 2

96%

"D miEly o= [EELEL

(EfM4)HRATOBIS CESDARBREEREINIEAHYET T ?EHEZHY)

Sh— EEL
(24K) (ABD (BED (CHD Foyhh — 0%
H5 18] 11 7 i
A 38 9| 28 1

e L1 1
EEZL 0

Hd
31%

9/] 20f 35 2

£
67%

s Hd wGly mAUF—RybHhiE = EELGL



[(BRB1HLTIE. BRTESDHR—LR—CFRECENHBYFET N,

(215) (ABE) (BEE) (CHE)
Hd 25| 13| 11 1
A 32 7| 24 1
E&ELZL 0

57[ 20| 35 2

mEZL

0,

Py
44%

o/

56%

=5H5 wgLy = @EGL



